
S1 Homework 32 
 
1 Calculate:- 
 a) 50% of £17.00 
 b) 25% of 680 pigs 
 c) 10% of 16·7  tonnes 
 d) 75% of 3664 people 
   
2 Write down the number which is:- 
 a) 10 less than −3 
 b) 10 more than − 6 
 c) 20 less than 6 
 d) 20 more than −54 

   
3 Which of these shapes has the largest area? 
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The ratio of cows to sheep on a farm in 2:5. If there are 150 sheep, how many 
cows are there on the farm? 

   
5 Calculate the area of the shapes below: - 

  a)           3cm                               b) 
                   2cm                                          5cm                                             
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                10cm                                            6cm 
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